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1.  Factors which characterise small scale farming


                              2 x ½=(1mark)
· small size of land

· limited capital

· limited tools/equipment

· less labour is required

· maximum use of available labour

2. Limitations of mixed farming






     2 x ½ =  (1mark)

· High initial capital is required to start the various farming enterprises

· Limited area for each enterprise

· Inadequate technical know-how and labour to run the enterprises
3. Effects of HIV/AID and ill-health on Agricultural production                                   4 x ½ =  (2marks)

· Shortage of labour
· A lot of money is spent on treatment and hospitalization of people with HIV and AIDS

· Leads to low food supply and poverty due to loss of market for agricultural products.

· Resources used in treatment of HIV and AIDS could be used in Agricultural production

· Less time is spent on farming activities because a lot of time is spent looking after people with HIV and AIDS.
4. Reasons for carrying out  soil conservations in a farm.


                   2 x 1=   (2marks)

· prevents loss of plant nutrients from the soil/maintains soil fertility

· Maintain soil structure/prevents loss of soil particles
5.  Four methods of treating water for domestic use



    4 x ½      (2 marks)
· boiling water

· Chemical treatment/chlorination/addition of sodium salts

· filtration

· Aeration

· Storage over a period of time, sedimentation or decantation

6. Ways in which inorganic mulch  helps to conserve water in the soil
   
    2 x ½   (1mark)

· Reduce run-off thus increasing amount of water into soil
· Reduces evaporation

· Increases amount of water retained by the soil
7. Factors that would determine the amount of fertilizer to be top dressed to a crop in the field  1mark)

· Type of crop/nutrient crop required/rate of nutrient uptake                                      2 x ½ =1 mark                               
· Type of fertilizer

· stage of crop growth

· Expected yield

8. In what ionic farm is the element N absorbed by plants



         2 x ½   (1mark)

· Nitrate (No-3)
· Ammonium (NH+4)

9. Factors that would determine the number of tillage operations when preparing a seedbed   (2marks)

· topography/liability to soil to erosion





          4 x ½ =2marks
· type of implement used

· Crop  to be planted/size of the seed/type of seeds

· Soil moisture

· Initial condition of the land/type of weeds

· Soil texture

· Available capital

· Skill of the operator
10.   Factors influencing choice of tools and implement used for primary tillage        4 x ½ =  (2marks)
· Size of the land
· Moisture content of the soil

· Capital available

· Soil type

· Intended depth of cultivation

· Desired tilth

· skills available

· Topography of the land

11. (a)  Ways by which pesticides kill crop pests.




    2 x ½ =  (1mark)

· As contact poisons
· As stomach poison after being digested

· Suffocation of pests

(b)  FOUR disadvantages of chemical pest control in crop production.                 4 x ½= (2marks)

· Pesticides are expensive

· some are non-selective killing useful insects as well

· Some pests can develop resistance to the pesticides

· Most pesticides can be toxic to man and livestock

· Requires care and skill in handling

12.  (a) Causes late blight in tomatoes





       1x1=   (1mark)

· fungus/phytophthera infestans
(b)  Symptoms of late blight in tomatoes




                 2 x ½ =   (1mark)

· Rapid drying of leaves
· Brownish dry rot of fruits

· Destruction/drying of the whole plant/necrosis

13.  vegetative part of each of the following crops which is propagated
               4 x ½ =  (2marks)

Sweet potatoes .......... stem cutting/vine tuber
Cassava.....................stem cutting
Bananas..................   suckers
Oranges.....................Budwood/Bud
14. Factors that determine the depth of planting seeds 

                               2 x ½ =  (1mark)

· Soil moisture

· Size of seeds

· Soil type

· Soil temperature

15.  Factors that would influence the time of planting beans


                                 (1mark)

· Variety of beans
· Rainfall pattern/availability of irrigation facilities/onset of rains/rainfall reliability

· Disease and pest incidences

· Expected harvesting time/marketability/in the light of suitable weather.
16.  Basic economic concepts






                    2 x ½ =  (1mark)

· Scarcity
· Opportunity cost

· Preference choice

17.  Methods of weed control in pastures




                     2 x ½ = (1mark)

· Timely land preparation
· Slashing

· Application of selective herbicides

· Uprooting of weeds.

18. Importance of agroforestry






          2 x 1 = (1mark)

· Source of income

· Source of wood fuel

· Environmental benefits

· Labour saving

19.  FOUR advantage of undersowing in pasture e production

                  4 x ½ =  (2marks)

· Leads to efficient land use
· It controls soil erosion due to ground cover

· Reduces costs of production

· Saves time for pasture establishment
SECTION B (20 MARKS)  
20.  (a)   (i)  Rat guard/ metal deflator / rat proof/ rat baffle    


           2 x 1 = 2marks
      (ii)  - Clean the store
- Dust/fumigate/spray the store with appropriate pesticides e.g malathion, Lindane (red D or 

    actellic, BHC)


-  Carry out repairs                                                                                                   1 x 2 = 2marks

(iii)  To allow free circulation of air for drying the grains/ventilations.   O.W.T.T.E      1 x 1=1mark
20(b)(i) – To reduce  amount of water loss through evaporation/evapotronspiration /Transpiration

  - To modify temperatures


  - To reduce the impact of rainfall drops/hailstones thereby minimize damage on the seedlings


  - Reduce splash erosion


  - Reduce scorching effect on the seedlings




       2 x ½ = 1 mark

     (ii)  -Proper watering

   - Controlling weeds


   - Controlling pests and disease


   - Hardening


   - Thinning/Pricking out






    3 x ½ = 1 ½ marks

         (iii)   At 10-15cm high,  4-6 true leaves





    1 x ½ = ½ mark


Stage: at 4-6 weeks

          (iv)  - water the seedlings thoroughly

           - uproot gently using, appropriate tool e.g. gardeners trowel
                     2 x ½ = 1 mark







          
     (v)   1 m / or 100cm                                                                                                    1 x 1= 1 mark
21.   (a)  Thorn apple   Datura stramonium                                                                           1 x 1 = 1 mark
  (b)  Annual weed                                                                                                           1 x 1 = 1 mark
        (c)  It is poisonous to livestock






           1 x 1 = 1 mark

22    (a)   10,000m2 requires 200kg

    (5 x 4)m2 would require

                (    =  200 x 20
                          10,000


      (   = 0.4 kg or 400g of fertilizer                                                                      2 x 1 = 2 marks
           (b)  30 stands for the ratio of P2O5
                 10 stands for the ratio of K20





          2 x ½ = 1 mark

23     (a)  Layering/ ground layering/ trench layering/ Tip layering


           1 x 1 = 1 mark
         (b) – Debarking/wounding the part of the plant buried in the ground


   - Bending the part of the plant buried in the ground


   - Applying rooting medium/rooting hormones


    -Wetting the soil                                                                                                     2 x ½ =1mark

          (c)   - used for plants whose cutting do not root easily


     - used where large planting material is required                                                    1 x 1 = 1mark
24      (a)    American Bouwom     (Heliothis armigera)                                                      1 x ½ = ½ mark
          (b)  - bore hole in fruits


    - eggs laid on tomato fruits by adults

                -  lowering the q quality 

                - larvae feeds on tomato pulp reducing its quality


    -  leads to stunted growth /Low yields                                                                  2 x ½ = 1 mark

          (c)  Use of appropriate insecticides                                                                          1 x ½ =  ½ mark



SECTION C: 40 MARKS

25    (a)      Kangaroo Farm


       Balance sheet as at 01 - 06 - 2012(
	Liabilities(
	Shs(
	cts
	Assets(
	shs
	cts

	Current Liabilities
	
	
	Current Assets
	
	

	Farm  inputs purchased on credit
	  19800
	00(
	Cash at hand
	    5000
	00(

	Wages  
	    5600
	00(
	Cash in the bank
	  20000
	00(

	Taxes payable
	      750
	00(
	Layers
	  30000
	00(

	
	  26150
	00
	Beans in store
	    7000
	00(

	Long-term liabilities
	
	
	Calves
	  15000
	00(

	Bank loan
	213000
	00(
	Dairy cattle
	120000
	00(

	Interest payable
	    2000
	00(
	Eggs sales on credit
	  10000
	00(

	
	215000
	00
	Milk sales on credit
	  13000
	00(

	
	
	
	Vegetables sales on credit
	    5000
	00(

	Total Liabilities
	241150
	00(
	
	225000
	00

	Networth
	353850
	00(
	Fixed Assets
	
	

	
	
	
	Buildings
	 75000
	00(

	
	
	
	Machinery
	 95000
	00(

	
	
	
	Land
	200000
	00(

	
	
	
	
	370000
	00

	Total 
	595000
	00(
	Total 
	595000
	00(

	
	
	
	
	
	


              ( = ½ mark
25
(b) Natural factors encouraging soil erosion
· steepness of slope
· rainfall amount

· type of soil

· size of water shed/size of catchment

· Rainfall intensity

· Bareness of soil

· Prevalence of strong winds

· Soil depth

26(a)
Production of onions


(i)  Varieties

· Red creole

· Tropicana Hybrid

· White creole                                                                                               2 x 1 = 2 marks

(ii)  Land preparation

· Prepared to a fine tilth
· All weeds should be removed

· 40-50 tonnes/ha. farm yard manure should be applied

· And mixed well with soil





        3 x 1 = 3 marks

(iii)  Field Management practices

· Thinning  - for the crop that is directly planted to achieve a distance of 8cm between two plants within a row

· Weeding – field to be kept weed free.   Care taken not to damage roots

· Topdressing – using CAN at the rate of 250kg/ha done 3 months after planting

· Pest Control – by use of appropriate pesticides e.g. diazinon to control onions thrips

· Disease control – use of appropriate fungicides to control diseases like downey mildew and purple blotch.






          5 x 1 = 5 marks

  26 (b)
           Cultural method of controlling pests
· Field hygiene /field sanitation/ rogueing / removal of crop remains

· Use of trap crop

· Destruction of alternate hosts by proper weeding

· Timely harvesting
        (c)        Factors affecting the effectiveness of a pesticide
· Concentration of the pesticide

· Timing of application in relation to the stage of development of pests
· Weather conditions e.g. rainfall, wind

· Persistence of the pesticide

· Method of application of the pesticide

· Formulation of the pesticide

· Mode of action






         6 x 1 = 6 marks

    27 (a)      Factors that influence spacing in crops
· Growth habit of the crop/nature of plant growth – crops that tiller, spread, creep, tall may require a wider spacing than those that do not.

· Intended use/purpose of the crop – maize for silage is planted at a closer spacing than that for grain production

· Type of machinery to use for field maintenance operation – spacing adopted should allow passage for various operations  such as weed control, spraying and harvesting

· Soil fertility – A fertile soil allows for closer spacing compared to poor soils
· Moisture content of the soil/amount of rainfall in the area may allow closer spacing but low rainfall may necessitate wider spacing

· Interplanted  crops – crops planted with others in rows will require wider spacing

· Pest control – properly spaced crops will make it difficult for pests to move from one plant to another e.g aphides
· Disease control – Rosette virus in groundnuts is controlled by close spacing.

· No. of seeds/plants per hole – where more than one seed/plant is planted per hole, wider spacing is used.

                                 1 mark for stating a factor 5 x 1 = 5 marks
                                       1 mark for explanation  5 x 1 = 5 marks

        27  (b)  Practices carried out to ensure uniform germination
· Select seeds of the same size, Var, age and free from pests and diseases

· Plant seeds at the same time

· Prepare the whole filed to the required uniform tilth

· Plant at the right moisture content of the soil/irrigate uniformly

· Treat seeds before planting i.e to break dormancy

· Treat seeds against soil borne  pests and diseases

· Plant at the correct depth

                                                                                                                  5 x 2 = 10 marks
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